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2021-22 S6 Mock Exam Paper 2 Solution 

 

BACCD DBDBC 

DADCC DCCDA 

BDDAA BCCCC 

CDDAB CBBDB 

DBABC   

 

1. B 

 9444  16222 = (32)444  (24)222 

  = 3888  2888 

  = 6888 
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3. C 

 3x + 3y – x2 + y2 

 = 3(x + y) – (x2 – y2) 

 = 3(x + y) – (x – y)(x + y) 

 = (x + y)[3 – (x – y)] 

 = (x + y)(3 – x + y) 

 

4. C 
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5. D 
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6.  D  

 L.H.S. 
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 R.H.S. 
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= + + +
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 ∴ 
2 2(6 2) 9 (9 ) 2 18nx n x n m x mx− + +  + + +  

 By comparing the coefficients of x2 and the constant term, 

 we have 
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 By substituting (1) into (2), we have 
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Alternative method: 

Sub. x = 3,  
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7. B 

 

2

2

1
(2)

2

1 1
2(2) 2 1 2 1

2 2

1 1
8 2

2 2

16 4 1

3 15

5

f f

k k

k k

k k

k

k

 
=  

 

 
+ − = + − 

 

+ = +

+ = +

= −

= −

 

 

  



3 

 

8. D  

By the remainder theorem, 
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∴ f (x) = x3 – 3x2 + 12x – 7 

When f (x) is divided by x + 1, 

remainder
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9.  B  

 Let b and h be the base and the height of the original triangle respectively. 

 Then, new base (1 %)b x= +  and new height (1 %)h x= +  
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10. C 

  3(2x − 1) < 8x − 13 

  6x − 3 < 8x − 13 

  −2x < −10 

  x > 5 

 2x + 1 
4 7

3

x −
 

 6x + 3  4x − 7 

  2x  −10 

  x  −5 

 ∴ x > 5 or x  −5 

 ∴ x  −5 

 

11. D  
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 a : b  

 

= 3 : 2  

 

    b : c

z 

=   4 : 3 
 ∴ a : b : c = 6 : 4 : 3 

 

Alternative method: 

Let 2a = 3b = 4c = 12k,  

then a = 6k, b = 4k and c = 3k 

∴ a : b : c = 6 : 4 : 3 
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12. A 

  Let 
2y

kx
z = , where k is a non-zero constant. 

  Let 1x  and 1y  be the original values of x and y respectively. 

  Original value of z 
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=  

  New value of x 13x=  

  New value of y 12y=  

  New value of z 
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13.  D  

 By observing the patterns, we know that 
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 Alternative solution: 

  T(2) = T(1) + [2(1)+4] = 4 + 6 = 10, 

 T(3) = T(2) + [2(2)+4] = 10 + 8 = 18, 

 T(4) = T(3) + [2(3)+4] = 18 + 10 = 28, 

 T(5) = T(4) + [2(4)+4] = 28 + 12 = 40, 

 T(6) = T(5) + [2(5)+4] = 40 + 14 = 54, 

 T(7) = T(6) + [2(6)+4] = 54 + 16 =70. 

 i.e. T(7) = 4 + 6 + 8 + 10 + 12 + 14 + 16 = 
(4 16) 7

2

+ 
= 70 
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14. C 

 y = – 4 – (3 – x)2 

  = –x2 + 6x – 13 

 For option A: 

 Put x = 0 into y = –x2 + 6x – 13, 

 y = –02 + 6(0) – 13 = –13  0 

 ∴ The graph does not pass through the origin. 

 ∴ A is not true. 

 For option B: 

 Coefficient of x2 = −1 < 0 

 ∴ The graph opens downwards. 

 ∴ B is not true. 

 For option C: 

 = 62 – 4(–1)(–13)  

  = –16  

  < 0 

 ∴ The graph does not cut the x-axis. 

 ∴ C is true. 

 For option D: 

 y-intercept of the graph is –13. 

 ∴ D is not true. 

 

15. C 

  Let 3cm V  be the capacity of the paper cup. 
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  Required volume of water 
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16. 

  
 

17. 
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19. 

 
20. A 

 
 

21. B 
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22. D 
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24. A 
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27. C 
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28. 

 
 

29. 

 
 

30. 

 
 

  



11 

 

Section B 

31. 

C 
First expression = 3 2 4a b c  

Second expression = 3 4 7a b c  

Third expression = 5 6a b c  

 

32. 

D 

5 138 8+  

( ) ( )
5 13

3 32 2= +  

3 4 3 3 4 92 2+  + = +  
3 3 3 92 16 2 16=  +   

168000008000=  

 

33. 

D 
                ( )2 2log 8a b− =  

         ( )( )log 8a b a b− + =    

( ) ( )log log 8a b a b− + + =  

                   ( )log 5a b+ =  
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34. 

A 
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The intercept on the vertical axis = 3 

Sub. 4log 0y =  into (1), we have 2log 2x =  

So, area = ( )( )
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2 3 3
2
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35. 

B 
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2 0k + =  

2k = −  

 

36. 

C ( )
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Let ( )T m  be the largest negative term in the sequence. 

( )    0

8 102 0

         8 102

           12.75

T m

m

m

m



− 





 

There are 12 negative terms in the sequence. 

The minimum value of ( )S k = Sum of the first 12 terms of the sequence 

( ) ( )
12

12 94 6 600
2

S = − + − = −    

So the minimum value of ( )S k  is 600−  

 

37. 

B ( )( )
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38. 

B 

We put the figure to the rectangular coordinates plan such that 

 ( ) ( ) ( ) ( ) ( )0,382 , 350,382 , 600,382 , 150,0  and 0,0A E F G D  

 

Equation of AF: 

382 282 382 1

0 600 0 6

                 6 2292

                       6 2292       ...(1)

y

x

y x

x y

− − −
= =

− −

− = −

+ =

 

Equation of EG: 

382 0 382 191

350 150 350 100

           100 38200 191

             191 100 28650       ...(2)

y

x

y x

x y

− −
= =

− −

− =

− =

 

 

By solving (1), (2), 
321.9101124

328.3483146

x

y





 

 

So, 

 

 ( ) ( )
2 2

321.9101124 600 328.3483146 282

281.9257914
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 − + −



 

 

39. 

D 
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40. 

B 

 
 

41. 

D 
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42. 

B 
( ) ( ) ( )25 5 10 3 25 6 10 2 25 7 10 1 25 8

20233675

C C C C C C C+ + +

=
 

 

43. 

A 
( ) ( ) ( )6 3 8 4 6 4 8 3 6 5 8 2 8 1

14 7

5!3! 4!4! 3!5! 2!6!

94

1001

C C C C C C C

P

+ + +

=

 

 

44. 

B 
66 45

7
3


−

= =  

Boy’s mark = ( )45 7 5 10+ − =  

 



16 

 

45. 

C 
Mean of  , , , , ,a b c d e f c=  

the mean remains unchanged after removing the datum c. 

 2m c=  

 I is true. 

 

 

When a datum equal to the mean is removed, neither the meximum vlaue nor the minimum value 

changes. 

 The range remains unchanged. 

 2 1r r=  

 II is true. 

 

 When a datum equal to the mean is removed(number of date reduced from 6 to 5), the standard 

deviation will increase. Variance will increase too. 

 III is not true. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  


